
file-name.:

BI_GA8610

U - CONSOLE SET XR10-30    GA8610
BI_GA8610.b.dft

Tek. N°:Title:

Solid Edge tekening
+ HR10-20

123

5
8

0

240

2
5

5
3

0

2
9

0

552.5

4
9

3

6
4

0

1.  6x M10 x 20 mm
2.  6x Ø20 x Ø10,5 x 2,0 mm
3.  6x M10 nut
4.  2x M10 x 30 / M12 x 25 mm
5.  2x Ø30 x Ø10,5 x 2,5 mm
6.  2x Ø24 x Ø12,5 x 2,5 mm (nylon)

1.
2.

3.
4.

5.

6.

O 11

148


